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— K9 IN WD 9 7 7RI 2R JINRR I
Do we say in the face of a 7771175 ‘why would I lie’, or not.

OVERVIEW

The X 13 queries: in a case where there is a 7P that contradicts a claim, and a n
that supports the claim, which is stronger; the 13°» that supports the claim or the
7Pt that denies it. Specifically the case involves where the Mm% claims "0 °nyad,
however he could have claimed *3a12 7°n¥79, is this 131 strong enough to offset the
7R oof ™0 ¥y R"R. Our MdOIN attempts to resolve this query, however these
attempts (but one) are refuted.

mooin asks:
— 90V RITY NPIN TN RN 22991 92 PNXY 29D HYPH

The 2''23%1 presented a difficulty with this query. For this 7P of 110 y719 X"X is

stronger than a note; the 7pm enables the Mon to collect better than a ww can. MadIN

explains how this is so -
—1nyaY XYa N3N NAPIN TN NYAWA XN N2 INMN Y0VWaY

For if the m>» possesses a 7w he cannot collect from the 20> (or 1152 XOHW)
unless he takes an oath that the money is owed; however with this 7P of y719 X"X

1"\, the 191 collects from the 210> without an oath; if their father died 1™n, as the

X1 previously stated -
—19%9N XY D1 DIPNI NMNT RVIW XN ND NIV NP INM 19 ON)

And since this is so (that this 7P is stronger than a 7vw), what is his query if a
W of Ipw °% nn is stronger than this 1pmn? It certainly cannot be stronger than this
7P, For this is obvious that we do not say that a 12" can be believed in the face

of witnesses who testify against the litigant who has the 12».> We have just surmised that 0w
is weaker than the i, for with the 70w he cannot collect *»n"» without a 7¥1aw. Therefore if we
cannot say a “uw 2pn2 13N, then -

— 3590 NOMYT NPIN DIPNA 19V V5

!'It would seem that we may (even) be discussing a P11 without a Tow; there are o7y that it is 7"1n of the loan. See
X2 7"7 R, 00,

2 If one of the litigants presents a claim for which he has a 1» that supports it; however the other litigant presents
witnesses that contradict his claim; he is certainly not believed; despite that he has a wn. o7y are the strongest
validation and proof. The strength of a 70w is the 0>7v that sign on it. A 20w can therefore be considered as 0*7v. It
follows therefore that if there is a 131 against a 0w it will not be believed since it is a 2>7y 2PN 7.

3 1t cannot be presumed at all that the 2"2> maintained that P11 is stronger than o>7y! Therefore it is likely that the
0" presumes that 138 X2 0w 21PN 130, since 0*7Y are backing the qww. It follows then that if apr is stronger
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certainly we cannot believe a 131 when it defies this P of 1"\ ¥715 X"X which is
more preferable than the qvw, for it enables one to collect from 20> without a Ay1w.

To summarize: The P17 is stronger than the 7vw. The strength of the 7vw is the o°7y. We do not
say 0°7v Q172 1n (or Tuw 2pnl); therefore we should certainly not say npin 21p»2 131 which is
stronger than the "vw. Why is the X3 inquiring whether 7p11 21P1n2 137 13°71K or not.

NID0IN answers:
— APINM 29TY DY INTIT DD NYUP NIT PNYY 13929 99IN)

And the "9 says that there is no difficulty at all, for it is certain that 2>7v are

preferable to P -
— 909 1IN TINA ION 1YY 299N INT

for if o7y testify that the Mm% paid the m%» even within the allotted time; before

the due date, the Mm% will be exempt from paying the loan, even though there is a 7pm that

he did not pay, nevertheless the 0 7v that testify that he paid are stronger than the 7p1m -
— NYIAY N2 DIND 12 NI NN IYID RIW 1IPT 1197 INN 199N 299N HIN)

And if the 0°7Y testify even after the time; we know that the Mm% did not pay the
mon, the M9 would collect from the o°m1n° without a yaw.’

NvOIN continues:
—IND ON) ¥99 ON 9OYN TINN N 1IORY 295 11T VY 1D YA NYAY TII8Y N1

And the reason why the Mm% is required to swear when he attempts to collect
from the 020> when he has a 2uw;® that is because it is not totally evident from

the 0w itself if the M7 paid or not. The 2>7v on the 7w testify that there was a loan. They
do not testify whether it was paid or not. Therefore there are no o7y that testify that this loan is
still owed. That is why a n»aw is required. The fact that the Mm% is holding the 7w is not
conclusive evidence that the m? still owes the money -

— (&, 1) NYINN NIAIT NP 7993 19999NTI NI9DT SVIVON 19D 99917 19310y

For occasionally the m¥%» will retain the q0w even if it was paid up, on account

than "W, we cannot say ApTR QPR WN.

4 See “Thinking it over’ # 1.

3> The assumption that 7P is stronger than the 27y (of the 70W) is incorrect. o*7y are stronger than npm. Whatever
7P can accomplish (such as collecting from "0 om0 without a 7y12w), the 7Y can accomplish more. They
enable the Mn to collect from the 2N even 111 XL without a 7¥12w. Whenever the 7pm and 279 conflict we
follow the testimony of the 0>7v against the npm. When o7V testify that he paid 1", the Mm% cannot collect (even
from the m?). Therefore from the fact that we do not say 2°7v 01p»a 13 we cannot derive that we do not say wn
TP 2pn3a, for 07y are stronger than 7P,

¢ Seemingly if when there is a 7pm he collects without a 712w, so by a “uw which has the power of 27 he should

certainly be able to collect without a 7¥12w (since M»do1N concluded that o>7v are stronger than 7pin).
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of the coins that are due the scribe for writing up the 7uw as the X723 states in
the first P70 of »''a.7

moon asks a different question:
— NPN 93 59971 NPIN DYPHA 119 129N RYT VIVEN 0PN YanT NYp N

However, there is a difficulty, that notwithstanding what was previously said
concerning 27V and a WY the X3 should resolve this query that we do not

believe a 13°» against a P15 we can derive this from 17''29 -
= 90YA 99%aN DN PaNN (0w 3,01 91 maw) PYAVIN Y P99 9INT

Who ruled in PPpaw:s %> p9p, one who deposits something by his friend with a

note stating that he deposited a specific item; the "7 is -
—3(90WAa) 1Y INNY I

The 7p21 is required to return the deposited item to its original owner in the

presence of witnesses. If he has no witnesses that he returned the item; and the depositor
shows the 1175 VW, the recipient of the deposit -

— YOINIT 9N Y2 INT NI Y ININN D 1139013 XD
is not believed to say, ‘I returned the 17p5 to you’, even though he has a w»»

that he could have claimed they were accidentally lost or stolen, etc. Had he claimed
10181 he would be Mo from paying, provided that he swears the o mwin ny1aw. Nevertheless
now that he claims 7% °n7m, he is not believed (even with a n312w); rather he must pay for the
17p0.° The reason the 13n is not effective, is —

— P2 NI Y2 TIVY NPY 9N FNNT DIVN
Because the depositor can say to the recipient; what is your "v¥ doing in my

hand; if you had returned it to me I would have returned the 17pd VW to you, so how come I
still have the "vw. The fact that the 70w is in the possession of the 117571 2¥2 proves that the vw
did not return the 1N7p5. This concludes the citation from the X723 in M»2aw. We see from that
X713 that a 1 1s not effective against the claim of °¥2 °X» >7°2 77vw. This claim of *Xn >7°2 70w
"y is conclusive evidence that the q0w: %2 is owed (money). If the 1 is not effective against
the "W —

— PN DIPNA NN 9N NIT )9V DI

7 It is the responsibility of the m? to pay for the scribe’s work. Occasionally the M2 is even lacking the few coins
necessary to pay the 1910. The m>n agrees to lay out these monies, but will not return the paid up 0w to the 777, until
the M7 repays the 907 *v>wd. When the m?» holds the 7ww it is not comparable to 2*7¥ testifying that he owes
money. There is always the concern that the loan was paid. Therefore he cannot collect from the o»n° without a
7y1aw. It is not a weakness in the "7 of 0>7¥; rather it is a weakness in the proof of holding the "vw. It is possible that
we do say 0w D1pna .
8 This is amended to read '0>7v2".
? See w2 A"7 2,7n Myaw Mmoo for different interpretations of s'1"27 ruling. This M201N seems to follow the view
of the (X271 R 7"7 R,XY 19P7) 0"2w". See "1 Awn nbma.
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Then certainly a w32 cannot be effective against the 71177 of "0 v11D X"X -
— AMAWN 19DIDD 23NN RSP INM Y7193 TIVYT NNYVI NIAY P98 PRT NITY NPINT

For the 1Pt of 1"\0 y719 R"X is more effective than a 7vW; since with the 121, the
m>n is not required to swear to collect from the 2"n° however the claim of

Y3 SR» 9792 7w is not sufficient to exempt the M%» from a 7¥12w if he wishes to
collect from the o min>. 10

moon offers a possible response:
— NN 93 9995 N30 XY NINT NIND NNHYY

And perhaps the X7n) here that inquires whether 7P 2P 1391 32K or not,

does not agree with 1''29; it may maintain that a qvw 23p»2 13°n may be valid. If the W
claims 101X17 13°»2 °n717 he may be believed (with a 731aw). Therefore the X713 inquires as to
what the 17 is by a apm 2pna wn.

mooin will offer other places where there is a discussion concerning pIn P12 1°1; however

they are not relevant to our discussion here:
— DN %Y TONT 9 PINAT KON MINT (0w 3,70 41 DIND 15997 NINAY 593 317 N9

And our X773 is not at all comparable to that X723 in 9287 P99 [P@w7TR NoON],
where the X72) states that in a case where it is known that a married person has

brothers, however we are unaware that he has children; which would require his wife to

receive either 012° or 7%°%1 upon his death -
— NV NY 909 292 INT N MINIT D23 ’D YW 9IN)

And he claimed before he died that ‘I have children’. His wife will be M5 from
om0 if we accept his testimony. However this claim of exempting his wife
from 012> goes contrary to the 7p17; until now it was presumed that he had brothers
and was childless, which obligates her for 212°, nevertheless the 17 is that the
husband is believed; upon his death she is 7%°%m 012°n MWd. The reason why he is
believed against the np1n that she requires 7%°%m 012 is for he has a n, that he
could have exempted her from the 012> obligation by giving her a vi. That x 3

10 %111 72 »7 taught us that the 7wv of *va > 7°2 7MWW is stronger than a 1n. The 7P of 110 Y10 R"X is stronger
than *y2 °Xn 712 770w as evidenced by the fact that 7P exempts from a 7312w and the 70w does not. If there is no
quw opna on then there is certainly no npi 23pna . What is the X'w2°X of the X713 (according to 11"27)?! See
‘Thinking it over’ # 2. In the X"wp of the 0" it was assumed that a qww is equivalent to 2>7v. We know that the
7P is stronger than a W alone, regarding the 7v1aw for o>min. It is also known that 138 82 2>7y 2pn2 wn. If we
equate 0w with 0>y, and np1n is stronger than W, therefore if 1R XY (VW) 07y D1pna 13n then [P QPR 1W°n
1R R9. This question was negated that a Q0w is not 0>7v. However n"27 says distinctly that X2 0w Dpna wn
1mR, then for sure 1378 R? AP 0P W, since ap1n is definitely stronger than uw.

' This is amended to read X7 P PRATRT
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seems to maintain that a 13°n is effective against a 17pm.!2 However maoin does not explain how
the two cases are different.!'?

— O NNNIN NIN NPITNN IYAT (0w x,0p 97 mn) DIYY NYNRNT NI 19Y
And similarly that X in 2w w7 P70 where the X3 queries: she

established that there is a war elsewhere in the world; and she claimed that her
husband died there. Is she permitted to remarry or not.'* The X3 there explains the two sides of
the query -

— OYIY2 DIYY NN Y3 INT 119 99N M)
Do we say that we should believe her that he died for she has a %, for if she
wanted to lie she could have said there is peace in that part of the world where
my husband died. If she would have said that, since we are unaware of any war there, she would

have been believed, therefore we should believe her now with this 2 -
— PINY Y 1PYY 59 11 NN KY 39712 NINRNY KON NPIINDT 113 NIYTIN

Or perhaps we do not believe her, for once she established that there is war
where she claims her husband died and we know that in the time of war she says he
died even if in reality she only assumes that he died, therefore this 13°» cannot

come and be effective and to weaken the 7?7 that in the time of war a woman’s claim
is merely a *»772 — an assumption not an actual testimony.

— NONT 705 595 997 KXY NOYa NONN 1Y DNN 559
And the X3 there discusses a similar query as ours; this compels us to say that
the query there it is not at all comparable to this query here. If they are similar why
mention the query twice; in our X773 and in N»2°. Again NM20IN does not explain (here) why they
are not similar.'®

12 Up to this point she was p1w? 722> M0°X nptna. This P10 contradicts his claim that he has children and therefore
she should be pw» n°17 np1na. We are forced to say that the aptn opna o there, is not at all similar to our 2PR2 W7
7P, The reason we must say that they are not comparable is because in our X723 it is questionable whether we say
TP 0Pna 1 and in RGP0 we believe him with a 7pmh opna wn.
13 One explanation given is as follows: In X7 P79 the fact that he has brothers does not preclude his claim that he
has sons, the two are not contradictory, and therefore the 1 is effective. In our case the fpin of ™0 ¥y71 KR"K
contradicts completely his claim of 1™n °ny"», therefore there is a possibility that such a 1 is not effective (See
a"n).
14 The 777 is that if a woman comes from overseas and claims that her husband died, she is permitted to remarry. If
however there was a war there, she is not permitted to remarry even though she claims that her husband died. The
reason she is not believed in the latter case is because we are concerned that in wartime since so many people died
and she cannot find her husband she ‘assumes’ that he died without actually knowing for sure that he died.
15 See Mmoo in (W "7 R1"0R) @9W AwRT who explains that there the 7P and the claim do not contradict each other.
It is possible that there is a war (and even if she is claiming *»772) and yet the husband died. However, here the npin
and the claim conflict with each other. Therefore no matter how we would resolve the X°¥2°X here, the X°v2°X there in
nn2 would remain. If we were to resolve here that 11X [pm 0Pna 1, nevertheless in MM we still may not
believe the woman since she may be saying a claim of *»772; not a 32 n1wv as in 1™N. If we were to resolve that 1n
5
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mooIn has a different question:
—(3,0p 97 INAY N2 9992 5719252 1INTN NVYP 1N

However there is a difficulty from what we learnt in a 771w» in N2’ noon in
W' pIp -

— 131950 DXYPAN DIVHY NN IMN 19999 NP2 XY DY DIWHY TN NIARY Hnad
A sister-in-law, who went through the 012’ process and was subsequently divorced
within thirty days, if she claimed within the first thirty days after the 012°; there
was no relationship with me, the 02> did not perform 7X°2 with me during our
marriage and therefore I still require 7%°%m, since I am still 212°% 7pP1,'¢ so 177 N7
forces the 02’ to give the 7%°%n1 2. However if she complained to 7"2, when she
was divorced after thirty days have passed from the original 012 date, then 7"2

merely requests from him that he should give the 7%°%11 ,712°; however 7" does not coerce
him. This is the mwn.
— D1 KDY 2910 NIYAIN YWINN PN DY DIVYHY T¥T DNN W90

And the X773 explains there; why is there a difference whether the divorce took
place within thirty days or after thirty days; for up to thirty days when a man is
together with a woman a person can control himself, and withhold his temptation

to have X"2. However more than thirty days he cannot control himself, and by that

time he will certainly have had nX°2 with the 72°.
— NN NYT 19919 PPN 01 DIWIY INNRY 7999

And therefore after thirty days have passed since the 012, before she was
divorced, and then she comes to complain we do not coerce him to give nx°711 for

it is assumed that he already had 7%"2 with his 77n2° for the 712 is not believed. It
goes against the 7P of *P1a X% "du. A person cannot contain himself for more than thirty days.
This ends the quote from the X713 there.

Mmoo concludes his question; the woman is not believed npm 0pn2:
— DINNIT LY RAY D19 19N N9NIN NIV INT 1N NY NHINT 22 DY 9N

Even though she has a 13°» for if she wanted she could have said he is incapable

of having X2 with me; he is physically dysfunctional. If she would have made such a

claim then she would have been believed —
$ (x,x¥97) 0297 9102 NMNTD

As it is evident in the end of 2971 NDON that a woman is believed to claim R12% 913° 1°KR

JINR R P10 03, we still may believe the TwR that her husband died; since the fact that there is a war does not
preclude his death.
16 A 7n2> has an MoO°X to marry anyone but her brother’s —in-law, until she had %2 or received 7%°n from one of her
o°n2°. Marriage without X2 is insufficient to remove this 0.
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5y.!17 mooIn does not answer this question.'®

SUMMARY

The 7pm of 1" yMd XR"X is stronger than Ww (because a VW cannot prove
conclusively that the loan was not paid); however it is not stronger than 2°7y. Our
X3 seemingly maintains that a 2» may be valid against a 2vw (in opposition to
n"27) The X°v2°X here is where the 7pmm and 7w directly contradict each other;
otherwise we may say 7pTn QP12 1. By a 772> we do not believe a 13°n against a
7@, which seems to conflict with the query here.

THINKING IT OVER
1. mpoIn offers two proofs that o°7y are stronger than 7ptn. Why are both proofs
required?!’

2. How does maoin compare the 17775 70w of 1127 to a 719 0w of our X1M3?2° By a
oW MYn a nyIaw is required by om0 since we are concerned that the m%n retained
the 70w because of the °7907 "vWwo (it is possible that a » would be believed
against a "W mM9n); however by a 17pd W, the °pon pays for the qvw; there is no
"M907 "W, therefore the 71vy of *y2 “Xn *71°2 70V is sufficiently strong to negate
the 1on?!?!

3. If we were to assume in our X723 that we do say 7Pt 23pn2a 13n, would that
necessarily mean that 13°» is stronger than 7pmn? How can this possibly answer

mooN last question from 77127222

4. Differentiate between the various M1 and 13 that n901n discusses.

17 The question is that there in N2> there is a 7P D2 1»; the 7P is that a person will be 7y12 by thirty days
which contradicts her claim of *n%va1 8%. On the other hand she should be believed that >n%y21 X since she has a 137
of "y X129 712> K. The mwn there rules that she is not believed. That proves that wn 10K &2 apm opna. Why
therefore is there an X°¥2°X in our X723 if XY IR P17 2PN 13070 J0K?!
18 See 7°m1 7"72 n"n1. See ‘Thinking it over’ # 3.
19 See footnote # 4.
20 See footnote # 10.
21 See " A"7a n"m.
22 See footnote # 18.
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